Fundamental Theorem of Calculus:  PROBLEMS


GRCC Physics





A sprinter crosses the finish line with a speed of ten meters per second.  Assume that the sprinter begins to slow down immediately and slows to a stop (with constant acceleration) in two seconds.  


How far does the sprinter go past the finish line? 


What was the acceleration of the sprinter during those two seconds?


A ball, initially at rest, is subjected to a net force which starts at zero and steadily increases at a constant rate for three seconds, at which time the force on the ball is eight Newtons.  What is the final momentum of the ball?
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